Grade 4

Mathematics
Addition
1. Work out.
+1 +1
a) 5146 b) 4 089
+ 1203 + 75 2
6 3 49 4 8 41
2. Fill in each box with the correct numeral.
+1 +1
a) 5 2 4|1 b) 514 7 6
+ 3 4|23 + 2 8 1|7
816 6 4 8 2|93
3. There are 1258 boys and 1304 girls in a school. How many pupils are there
inall ?
+1
1258
+1304
2562
Answer: 2562 pupils.
4.  The table below shows the number of people in a village.
111
Men 2597 2597 4256
Women 1659 +1659 +1243
4256 5499
Children 1243
a) How many adults are there ? 4256
b) How many people are there in all ? 5499
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